
#4 
	1^
	3
	5-10-100
	7
	1^
	3
	2

	8
	8+10-100
	9*
	8+10-100*
	9*
	8*^
	9*

	1
	-5
	4
	3
	4
	7
	10-100

	3
	5
	6
	-3
	-10-100
	1
	3

	8+10-100*
	9*
	9*
	8^
	9*
	8*^
	9-10-100


Answer: There are 2 saddle points. The value of game is 8
#5
	0
	0
	0
	-2
	-2
	-1
	-2

	0
	2
	0
	-1
	-2
	-1
	-1

	2
	3
	3
	0
	2
	4
	0

	2
	0
	3
	0
	2
	3
	0

	0
	3
	1
	4
	3
	0
	4


 So you are left with the matrix 
	2
	0

	0
	4



His optimal Solution:
(4r3+2r5)/6
Her optimal solution:
(4c1+2c4)/6
The value of game is:
(4*2)/6= 4/3

